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12R% (#) 26 ERET ()
A | kg% | RESR AV | RkeR | RE#R
CNGV - CHGVH - CHGTHZS 28 FA LISt DR &

500Lk&
LPG 1,026, 383 1,610 6,897, 705 16, 780
PG 61,182 15 600,570 10, 128
LG 34,313 2 356, 425 281
AG 3,028 0 26,803 2,010
LT 815 602 20, 146 9,522
LNGV 0 0 30 0
(ADIN 0 0
(LDH 0 0
2Dt 13 0 981 193
LER:N e oy R N 1,125, 734 22294 0 _____)______ 1,902,660 ________ 389014t
HEERALL (%) 113.2 77.0
smgast [ 1279 | _ieaisi4
HETERAL (%) 113.0

500L L4 £ 100013k 75
LPG 0 0 40 0
PG 451 10 4,539 10
LG 811 384 3,780 2 844
LT 0 0 0 0
LDL 0 0
(LDH 0 0
X 0 0 81 0
waEmaR | 1262 K] I A gasl 2854
HAFERAL %) 98.0 121.5
wegas | tee [ dt2a
WHEIERA L (h) 0.2

1000LLLE
LPG 964 380 26 1,589 4,429 438
PG 1 5 0 55 24 0
LG 61 33 4 1,538 957 12
LT 61 11 10 647 120 133
tnL 0 4
ALDH 0 4

D 34 17 0 90 45 0

Ity S I T Y] R ag[ o COTE] I 5583 583
EERALL %) 84.9 109. 2 102.5
egA . . _________ ieo’ | 1608 ____
HEERALL (%) 0.2
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1205 (@) 26EERE (E)
sy | wmew | mER Ay | wmes | RESR

CNGVE R R DR SR
L HIREE S N I 29f 0 of . 20%0f af 0f
HEERAL h) 17.4 1.8 0.0
oeves&R 2 22
WHETER AL (h) 0.0

CHGVHE B F DR &
fEREges 0 9f o of _________ 117/ I /1 K 0f
XETER AL (h) 4.4 3.4 0.0
chevh@E®&st | 20 Vo ________88
*RTEE AL (h) 0.0

CHGTHZ 3% F DIt /& &
FAERAR I | N | o al ] I 0]
HEER A (%) 0.2 1.0 0.0
CHeTHE® &S 2 80
HEERAL (%) 0.0
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